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  Accettazione	
  a	
  1KHz.	
  	
  37.9	
  Vrms	
  in	
  uscita	
  

	
  
	
  

	
  
	
   	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
FFT	
  del	
  segnale	
  di	
  cui	
  sopra.	
  D2	
  -­‐41.6	
  dB	
  /D3	
  -­‐45,2dB/	
  D4	
  -­‐47,6	
  dB	
  /	
  D5	
  –50,8	
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Accettazione	
  a	
  100	
  Hz.	
  	
  32,2	
  Vrms	
  in	
  uscita	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
   FFT	
  del	
  segnale	
  di	
  cui	
  sopra.	
  D2	
  -­‐45.6	
  dB	
  /D3	
  -­‐41,6/	
  D4	
  -­‐42,4	
  dB	
  /	
  D5	
  –48,4	
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Accettazione	
  a	
  12,5	
  KHz.	
  	
  29,6	
  Vrms	
  in	
  uscita	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

FFT	
  del	
  segnale	
  di	
  cui	
  sopra.	
  D2	
  -­‐31,2	
  dB	
  /D3	
  -­‐37,2/	
  D4	
  -­‐42,4	
  dB	
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FFT	
  ad	
  1	
  KHz	
  in	
  uscita	
  del	
  primo	
  stadio	
  ,	
  per	
  un	
  livello	
  di	
  42	
  Vrms	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
Quadra	
  a	
  10	
  KHz	
  in	
  uscita	
  ,	
  iniettando	
  il	
  segnale	
  in	
  ingresso	
  del	
  secondo	
  stadio	
  


